Factorisation
Ex 7C

Q1

Answer:

We have:
2?4 8r+16 =22 42 xz x4+ (4)°

= (z+4)
222 + 8z +16 = (z + 4)°
Q2
Answer :

We have:
2+ 14z +49 =2 +2x a2 x 7+ (7)

= (z+7)*
gl 14z +49= (z+7)°
Q3
Answer:

We have:
1+2z+z2 =22 +2z+1
—z?4+2xzx 1+ (1)
=(z+1)?

214224 2% = (2 +1)°

Q4



Answer :

We have;
0+62+22=22+62+9
=22 +2xzx3+(3)
—(z+3)°

20462422 =(243)°
Q5
Answer:

We have:
z? +6az + 9a® = 2% + 2 x z x 3a + (3a)’
— (z +3a)®

- 2% + 6az + 9a2 = (z + 3a)
Q6
Answer:
We have:
42 +20y+25 = (2y)° +2x 2y x 5+ (5)°
= (2y+5)°
= 4y® + 20y +25 = (2y+5)°

Q7

Answer :

We have:
36a” + 36a + 9 — (6a)* + 2 x 6a x 3+ (3)°
— (6a+3)°

= 36a2 + 36a + 9 = (6a + 3)°
Q8
Answer:

We have:
Om? + 24m+ 16 = (3m)* 4+ 2 x 3m x 4+ (4)*

= (3m+4)
= Om? 4 24m + 16 = (3m + 4)*

Q9

Answer:

We have:

2
2 1_ .2 1 1
Frazty=2 +2xzx5x(5)

2
_ 1
= (=+4)
w2t tzti= (z+ —1)2
rl 2

Q10

Answer:

We have:

40a? + 84ab + 36b> = (7a)® + 2 x Ta x 6b + (6b)°
= (Ta+6b)*

- 49a? + 84ab + 36b” = (7a + 6b)*

Q11



Answer :

We have:
PP —10p+25=p* —2xpx5+(5)°
=5y’

Lp?r—10p+25=(p—5)°
Q12
Answer :

We have:
121a® — 88ab + 166% = (11a)® — 2 x 11a x 4b + (4b)*
= (11a— 4b)*

+121a® — 88ab + 160 = (11a — 4b)°
Q13
Answer :

We have:
1—6z+9z2 =022 — 6z +1
=(3z) —2x 3z x 1+ (1)
=(3z—1)

21 —6z+9z% = (3 —1)*

Q14

Answer :

We have:
0y® — 12y +4 = (3y)* — 2 x 3y x 2+ (2)°
= (3y -2y’

20y —12y+4=(3y—2)°

Q15

Answer:

We have:
1622 — 24z 4 0 = (4z)® — 2 x 4z x 3+ (3)°
= (4z —3)*

2 162% — 24z + 9 = (4z — 3)°
Q16

Answer:

We have:
m? —4mn+ 4n* =m? —2xm x 2n+ (2n)*
= (m—2n)*

2m? —4mn +4n? = (m — 2n)°

Q17

Answer:

We have:
a’b? — babe + 0c = (ab)® — 2 x ab x 3¢ + (3¢)”
= (ab— 3¢)*

Q18



Answer:
We have:
m* +9m2Zn? +at = (m2]2 +9xm? xn?+ (ng)Q
= (m? +n2)2
- m4 +2m2n2 +ﬂ-“ _ (m2 +n2}2
Q19
Answer :
We have:
(L4-m)° — 4lm — (52 +m? +2!m) —4lm
— % +m? + 2lm — 4lm

—Ptm? - 2m
=(I)2+(m]2—2x£><m
=(I—m)2

(I-i—m)z ) — (l—m)Q



